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The membrane model, which had been devoloped by Danielli & Davson, had been accepted by most scientist for many years. But in 1972 Singer & Nicolson proposed their own model, which they called the “fluid mosaic model.“ The article, in which they presented their model, started with the following observation:

Singer & Nicolson’s problem:

The [...Sandwich] model is [...] unstable because [...] the [...] polar groups of the lipids are sequestered
 by a layer of protein from contact with water. Therefore, neither hydrophobic nor hydrophilic interactions are maximized in the classical model.  […In addition ...] a membrane model in which [… all …] proteins are attached to the outer surfaces of a lipid bilayer would not be satisfactory because, among other reasons, it would require membrane thickness much larger than the 75 to 90 angstroms
 generally observed.
Please summarize in your own words what Singer & Nicolson criticise about the model of Danielli & Davson.

Think of an alternative way to arrange the membrane proteins that would neither require as much membrane thickness as the model of Danielli & Davson, nor make the lipid bilayer unstable. Make a sketch.







� to sequester – absondern


� 1 angstrom = 10-10m = 0,1 nm








